MGT? series

TWIN-GUIDE CYLINDER

MGTK Light duty type

MGTX Light duty flange type
MGTB Heavy duty (bush) type
MGTU Heavy duty (linear bearing) type

Order example

MGTB — 40 — 100 — RP
| |

TUBE I.D.

STROKE

- .?
\ =z
m"gﬁ?( “ REAR FLANGE
v MGTK COUPLING

! — -.'.\q_\. l
ey ' Y re

RP: With rear flange coupling

*1. For precautions, please refer to page 3-2.
*2. Order example for special specification, refer to page 0-7.

AW mindman

mindman

Features

e The guide rod cylinder is a combination of ISO 6432 / ISO 15552 cylinders
with guide accessories. It has excellent resistance to rotation, torque and
lateral load.

e Four self-lubricating bushes or linear bearings enable high loading and precise
movement.

e Simplified structure, save a lot of time when designing mechanism/application,
generating new drawing and installing.

e The MGT* have longer stroke and a larger bore size than the MCG* cylinder.

e 332~263 With four grooves on the tube, reed sensors can be easily inserted
into any position.

e Adjustable cushion as standard.

e Magnetic as standard.

Specification
MGTB, MGTU
MGTK MGTX

Tube I.D. (mm) 20 25 32 40 50 63
Port size G1/8 G1/8 G1/4 G3/8
The range of stroke (mm) Stroke by request

Medium Air

Operating pressure range 0.2~0.7 MPa

Ambient temperature -5~+60°C (No freezing)
Cylinder Not required
Lubrication .
Guide (*) Lubricating grease
Available speed range 50~750 50~500 mm/sec
Sensor switch RCM RCI
Sensor switch holder BM20 | BM25 =

* Periodically refill with the lubricating grease is required to enhance the
lubricative grade and lifetime.

* Inject an appropriate amount of lubricating grease and the cylinder moves
back and forth several times to confirm that the movement is smooth.

RCM sensor switch specification

SN g Reed switch \c,:\gmggtt curre’r\1‘tP s’\i‘nking currenFt”:(F),urcing
Voltage range 5~240V DC/AC| 10~30V DC 5~28V DC
Currentrange  [100mA max. 50mA max.

Shock resistance 30G 50G

* RCM specification, please refer to page 8-16.

RCI sensor switch specification

RCI RCI-N RCI-P RNI

. Reed NPN PNP NPN PNP
Switch type switch Reed Reed current | current
switch switch | sinking | sourcing
Voltage range 5~240V DC/AC 10 ~ 30V DC
Current range 100mA max. 500mA max. 200mA max.
Shock resistance 30G 50G
* RCI specification, please refer to page 8-14.
Mounting
D
0 S @



MGT* Inside structure & Parts list

i

TWIN-GUIDE CYLINDER

MGTB MGTU MGTK

mindman

oo

M mindman

O 5 O
- 7] + o
© ? ©
Fpt—-———-— b0
0G0l
% e @s @
A -
TR
Material
No. Part name Material Note
1| cylinder . 220, 25: MCMI series
232~263: MCQI2 series
2 | Guide holder Aluminum alloy
3 | Plate Aluminum alloy
B Glice rod Medium carbon steel for MGTB, MGTK, MGTX series
Bearing steel for MGTU series
5 | Piston rod holder Carbon steel
6 | Floating connector Carbon steel
7 | Bolt SCM
8 | Bolt SCM
9 | Bolt SCM
10 | Oiler Copper
” Rod bush Copper for MGTB, MGTK, MGTX series
Linear bearing - for MGTU series
12 | Snap ring Spring steel
13 | Wiper seal NBR
14 | Bolt SCM




MGTK Dimensions 220, 225

TWIN-GUIDE CYLINDER mindman

MGTK (Qilless bush guide)

220, 925
! 5
1] | “@L ¥
<Pl - E=———— UL [
= e ¢
! KL 32.5 ! 2x4-M
C
2 4-N 2-g6""
5.8
e S | e [COT

GD \/\'l‘\\ /;‘J}iﬁ?:i

wil \\T// \HTJ/
ol [

i 9o

BN
L1+stroke w B
L+stroke
e |A|A1|B|B1|C|E|E1|F[F1|{G|H|J|K|L|L1| M N R|S v V1 w

20 |82|78|38|34|50|68|20|40|26|19|38|85| 5 |85 |88 |M6,(D)11|M5x0.8 thru| 58 | 10 | 85.5,69.5(D)5.4 |26.5,610.5(D)6.5| 65
25 | 82|78 |38|34|50|68|20|40|26|19|38|85| 5 |85 |89 |M6,(D)11|M5x0.8 thru| 58 | 10 | 85.5,89.5(D)5.4 |6.5,610.5(D)6.5| 65

Maximum allowable torque moment
Max. allowable load
MGTK 220, 825

L stroke 200
— I 150
Iifififififi, - Z
\\ //
¥ - 100 \\
N [}
I A Al //\\777 3
W //W\\ 50 \
| \\
Ii,i,i,i,i,i; I S

50 100 150 200 250 300 350 400 450
Stroke mm

M mindman



MGT* Dimensions 220, 225

TWIN-GUIDE CYLINDER

mMmindman
MGTB (Brass bush guide)
MGTU (Linear bearing guide)
020, 825
——— Q méﬁ L
e — e s
325 | \ s
C
u K i 2-V1 4-N 2-g6""
‘ © G
PSR
4-v T@rL
oo ol o o u «
N 1S
56
Oilerx2 J |12 | é1 ‘
L1+stroke W B
L+stroke
\T%\AA1BB1CE FIF1|G|H|J|K|L|[LI| ™ N R|s|uU \; V1 w
20 | 82|78 |38 |34 (100| 68 40126 (19|38 |8.5| 15 (135| 88 | M6,(D)11 [ M5x0.8 thru | 58 | 10 | 50 | #5.5,09.5(D)5.4 | ©6.5,610.5(D)6.5 | 65
25 [ 82783834 [100] 68 40 [ 26 [ 19 {38 [8.5] 15 [135] 89 [ M6,(D)11|M5x0.8 thru| 58 [ 10 ] 50 | 05.5,095(D)5.4 | 06.5,0105D)65 | 65
Maximum allowable torque moment
Max. allowable load
MGTB / MGTU 220, @25 500
L stroke
400
= —Ht=——+ 2300\
’’’’’’’ T 1A ;\/{"’ §200 \\
// \\ -
Y w ATAN
= TH " 100 -
| | SN
100 200 300 400 500 600
Stroke mm

M mindman



MGT* Installation of sensor switch M

TWIN-GUIDE CYLINDER mindman

Installation of sensor switch @20, g25

Sensor switch: RCM
Sensor switch band: BM** ’s il

Code

Sy A | B|C|DJE MGTB [

20 22 41 10 16 28

25 25 44 10 16 28 MGTU I

] E -
N 3 -
7 e\ I e = = I O
b\ g o . o 1]
{1
_1_117 - ‘ -
OS] el

8 ol )

Installation of sensor switch ¢32~g63
Sensor switch: RCI

MGTB ] MGTU | MGTX |
Watchmakers
Watchmakers screw screw driver S
driver
Set screw
‘Set Screw Sensor switch AN
Sensor switch RCI
RCI

M mindman



MGT* Dimensions 232 V

TWIN-GUIDE CYLINDER mindman

MGTB (Brass bush guide) MGTU (Linear bearing guide)
@32 232

I &
‘ | ’QQ o
120
98+stroke . 72
P 1 2x4-M6x1.0 12dp 4-96.5,010.5(dp)6.5 .
4-M6x1.0 12dp \ r—ﬁ» 206
wy e u
e —— B o
T A
&
| -
R | < I ™M | o2 < v
77 H‘}‘EF I Qo N o
1 @)
S '
o [ 1 N ] I
Oilerx2 | 8
325 15 50 4-M6%1.0
67 | 14 2-09,614(dp)5
179+stroke
Maximum allowable torque moment
Max. allowable load
MGTB / MGTU @32 600
L stroke 500
€
_ B E 400
:777 7777777777 - —77 I T 300 \
\ |/ 2 \
N/ o \
7777777777 I R N VA R N & 200 -
w Jwh 100
1——— —————————— — E* ——————— —-L ~L
— - 100 200 300 400 500 600 700

Load N

M mindman



MGT* Dimensions 240

i

TWIN-GUIDE CYLINDER mindman
MGTB Brass bush guide)
MGTU Linear bearing guide)
240
: o0 06
i |
B &4 b
‘ 135 |
109+stroke 76
wr 45 }
3x4-g6 - 2x4-MEx1.0 12dp 4-96.5,610.5(D)6.5
4-M6x1.0 12dp r——» 2-96""
10T —
7777777777777777 ! H; f,%,i,i,i N _ 1N @ 1@1\/
*‘i,;“ frg# i | i
; Iy
& o |7 ® g I B
= I | |(_‘ 1o 9 o N w ] — _ I o o &2
O OB | [75%9% | @ it e
I e & @ &
%) | | |
S - %ﬁﬁ %713‘}} 77777 H ] ] A \¥,
| I H ! ! !
MJ 8 LL»\ 4-M6x1.0
38 15 56
77 ‘ 14 2-99,014(D)5
193+stroke
Maximum allowable torque moment
Max. allowable load
MGTB / MGTU @40 600 \
L stroke 500
_ . £ 400 \
= — e \
\\\ /// 300 \
,,,,,,, B I VA T N\
/N & 200 N
YW /W \\
= LA 100 S~
T~~~
\\\
100 200 300 400 500 600 700 800 900
Load N

M mindman



MGT* Dimensions 250, 263

TWIN-GUIDE CYLINDER mindman
MGTB (Brass bush guide)
MGTU (Linear bearing guide)
250, 263
r %% 60
-4 - +— 11— 14w o
i i
B OO O
C
L1+stroke w
3x4-06"" J 2x4-M8x1.25(D)14 4-v
4-N G
o 1o —
] WYgPe ] A @,ﬁ/\
Sl L e ANY)) AN
T i i —
‘ o ©
© & \ lﬁj § i g
***"i@i* ************ ”t@i X 115~ < @ Ffa- <
L 1 2%
| T N
B o g P T 7 @ ey
9 i Faﬂ N N
15l T
otere o E ] T —F
U ! K B
L+stroke
oo |A|A|B|B1|C|E|F|[G|H|J|K|L]|L N R|S|T]|uU v w
50 141 1135 | 70 | 65 | 150 | 100 |46.5( 23 | 85 [ 7.5 | 19 |216 | 110 | M8%x1.25thru [ 104 | 20 | 20 | 81 29, 214(D)8.5 | 94
63 156 | 150 | 80 | 75 | 165|105 | 56.5| 28 |100 | 5 19 | 230 [ 125 | M8x1.25thru| 119 | 20 | 20 | 96 29, 14(D)8.5 | 94
Maximum allowable torque moment
Max. allowable load 600 \\
MGTB / MGTU 250, 263 - \
L stroke \\
g 400 \
— . £ A\
= JHee—— \ o63
B T o 300 \<
\\\ // 5 "?"50 \
7777777 11T TTAl 7/\"7 o 200 \
w /\N\ \\
| / \ \\
=g [ = ~—
100 200 300 400 500 600 700 800 900
Load N

M mindman



MGTX Dimensions 232 V

TWIN-GUIDE CYLINDER mindman

MGTX (Flange type)

232

4-96.5,610.5(D)6.5
98+stroke 15 55 4-26.6

|
51 &
444i4
444@4

|

|

|

\

|

|
o
Jicd
TH
A
OO

! 4-M6%1.0
I IS (N IS NN s T R AR Z%
= Z \ﬁ‘&
| 2'06H7

$
-

I~
\
F

\ ’

s

212
|
\
I
|
|
|
|
b
T
I
’
7
D —

|
—--
ATA
o

25.5 15
135.5+stroke 45
50
Maximum allowable torque moment
Max. allowable load
MGTX @32
L stroke 250
200
— - > \\
=———— I —- 150
] N,
\ /
\ |/ - ~N
v/ 8 100
,,,,,,,,, ] A I I N o
/\
A 50 T~ -
w // w \\ —
L L 50 100 150 200 250 300 350 400 450

Stroke mm

M mindman



MGTX Dimensions 240~263

TWIN-GUIDE CYLINDER mindman
MGTX (Flange type)
240~363
L1+stroke K w 4-gP
4-v
! ‘ ! 4-N
N I [, I SR I Yy @ /%’l\/
T N N
‘ | ; 4-06"
o ® | & 1 &
1 @f ffffffffffffff f@ — e © 3 > %@% o u uw T <
|
== /'J\\ ‘ /?Jl\\\
] E— L | e
]
|
= OO
J T _F
L+stroke B1
B
ook |A|A1|B|B1|E|F|G|H|J|K|[L]|L N P|R|(S|T|U ' w
40 (160|115 55 | 50 | 84|38 | 19 |140| 32 | 15| 148|109 | M6x1.0thru | @9 | 87| 16 | 15 | 115|86.5, 210.5(D)6.5 | 61
50 |180(135| 70 | 65 |100 |46.5| 23 [160 | 36 | 20 | 170| 110 | M8x1.25 thru | @9 | 104 | 20 | 20 | 136| @9, ©14(D)8.5 74
63 |195|150| 80 | 75 |105|56.5| 28 [175| 36 | 20 | 170| 125| M8x1.25 thru | @9 | 119 | 20 | 20 | 151| @9, ©14(D)8.5 74
Maximum allowable torque moment
Max. allowable load
MGTX 940~063
300
L stroke 250
_ B 200 250,063
=g [ S e ;
B 40
N L N P
v/ - 150 AN
,,,,,,, S N I /5 S U D A \\\
//\\ -
» /w 100 \\
| / A I~ ~
= [ — =t =
- - 50 ——
50 100 150 200 250 300 350 400 450
Stroke mm

M mindman



M

mindman

19

31

GUIDE CYLINDER

220, 825

MGT* Rear flange coupling 220, 225
MGTK

TWIN

2
[ [ P £l E
e T T . - £ > S| E
! | | ! | | | H ey © wn A-W o |
O PR PUUP AU | N O T A, dere e d [} N |
LTI T ‘TOTICED, Pl s e I [ iu s e 2 o .m =
i | i I | 1 H | l i | H o~ oo | o
Frman, FTTTE 7T _grema 1 A T 2 v e =
f— ! X H p— H | X | 1 = 0 s c
! | I 1 | ' | I s A el | ! > =
“ PG “ I i R - @ 3
i @ [ G @ i ! b= —LUN - Jd m © T ©° a
[ T R o @ i
! ) | ! S e gt ES 5
- r==d _1||L, — ,rll." 2 © v M z =
.Am Mv@ @Am Mv. (i i A@w@ @A@w 1 = & Y £ < i}
| 1 | g .= S (=) g
T q:._nnn._!’.nﬂnL i @ Fr-pe—=r-T11 @ ! S o / 1S oy o)
Lo | RN == g = g 55|28
=R R LS04 = L N o 2|22
v ot S e R s S 0 =
o S A R e B 2 &
¢ Pl S T S A 3 @
£ o “ I PoE o N © D
17 H 1 7 1 ! i i | o om Q
& [ =~ =
Yo | I | T i = @ 0
Pl T | PUTTTY =0 o £
P AR A @~ d E
o ! i oo S N 0 ol
——rt I ! 7 [ x Q |© ~N L
2 ﬁ“ﬁﬁm— bl A \ S o s|SlS
E R o diiod o i N 2 2 S 3”|”
P 3 R NN s " = 2
| m oo X o g
“ s W oo W 'R - 2
[}
“ | “ “ I ///A/ /VAI ] @
NN IS =
i _ _ NN E =
1
1 — — T
- o o o o o o [ ololn
o 8 8 § 8 ] ¢ = 28|12
o wuw ENeS ‘® A
whed - ©
el T
& g g °
S S |
3 il T S
............. o e o ? 7* et
=ul [t ] 7 = £ £ ‘\_.w,\#/ = €
== l&%m o e | Bk ° k= e o = ol
1 1 1 1 1 Iaiaind T TP _ —
b % {—F+ p!\+ T % “\TI\M%W\+ S w ° _.\___ h T ﬂ 98|88
! | ! ! i ! o = S i i 2 Bls|o
I I H I Q S 1 [
! | ! i | ! = £ © F | [y ° =
* ! T ! — % I T ! o = 0 i \ ! ! [ = Nl
S S s A
L fefpemea=s Feemseeessdees p ® T i - o% [ I o b7 2
] ! o
| - | @ 23 H ' 2
I I M AUu o 1 _‘ \__ 2
[ [ < - I i ] =
f 8% , - m - 23 I ﬁ I | I ﬁ I = 5}
- .mu (] ] 4
51 61 o 8 _ 53 L] 8| = |B|g|e
= o 2% 1 ALINEEE
® 3 h_m s , ﬁ , B el
5 ©
oo S m = 59 _ ! _ o
I =} 3 5 7 -
olo S ~ 93 7 7 e
5 m T M S | | |
M o = © o T 7 [e))
M o X% =58 i i — 8 o o|w
S © O o= i | i [ S Y
= 2 SE8 E | E =| F-
£ £ |

M mindman



M

mindman

0.100
0.159
0.240
0.250

MGTX (Brass bush guide)

1.274
2.082
3.440
4.221

0.100
0.159
0.240
0.250

MGTU (Linear bushing guide)

1.918
3.113
5.162
6.390

0.100
0.159
0.240
0.250

MGT* Rear flange coupling 232~263
TWIN-GUIDE CYLINDER

MGTX | ERZRTR)

MGTB (Brass bush guide)

2.060
3.423
5.584

6.816

(2]
X
£ |e| T
S|Ef ]
0
............. T R | + Py
| 7 i T | Lo = m
I I I Q.
I 1 1 1 °
....... AU S S U I £
! YT S S Sty I T AEIII, » n
a ! 7 ! | 7 s g 7 | [0)
--.«wammﬂ-- ot ! , PhmrRzzAT Y ! ! <
>
P g | Es
E 1 | 1 1 1 =TI 1 1 © O -
A N N R T £ W R T 5 =3t
|||||||||| 1 1 - x, creSThTTETTT T + - S 3 ©
- |---r--L--J-“.." ._nuummw*-*_m..v m W m A.;_w-wmmwhm 2 m MA P
,+ it g | L e ES 2
L el it ait | il s Tl Tt s Dt et - < Bt et sttt L =
i S A U B 4
1 “I” 1 7N\ 1 1 o 1) B
H 8 2 ol
| 58
J T @
_ g2
o 2 £
£ m =
o= 0
£ R °
o N o
3 $
b =
n
Q
X
o -
fa) @ =
é =
3
2
7
©
om
™
(o)
Q
1
& E
Q
0
(e iyl F- EIES N
i i (1)
-O-fFH —+——FFto SRIMEIE 2
1 | | | 1 0w m
i | N O =B o
T [ - T [ - - [
] ]
» | L MBEEE
i I N B R i o)
“r@ = @k“ 2 SRR £
R e e e ety EL r- A
O >
- o
o = o|e|g|g]g]w g
N 2)
N d | N || ﬂ_ ‘0
mi~fololo| ©
. m g o @
- <|8/2|3(3|2 -
v o v il R K0 0 R —
= 5 X Ol o
o0 [~ 9
S 28|82 o sa
S8 = W 2=
x

32
40
50
63

M mindman



	1_Specification
	2_Inside structure & parts list
	3_MGTK Dimensions ø20, ø25
	4_MGT* Dimensions ø20, ø25
	5_Installation of sensor switchs
	6_Dimensions ø32
	7_Dimensions ø40
	8_Dimensions ø50, ø63
	9_MGTX Dimensions ø32
	10_MGTX Dimensions ø40, ø50, ø63
	11_Rear flange coupling ø20, ø25
	12_Rear flange coupling ø32, ø40, ø50, ø63

